Exa use 4

Ld’ T be the (6)[7" .J'Luth o [M(/A/):
T: (N — L'(W)

T(X,.,x,_,x“,_.) = (K'-r Xy r--- )

amd 5 He n‘)u' :L‘/# o~ LZ(W)

J- (’(ﬂ( X‘L == ) - Ca’ Xa, X (- 7

) ,Q,f::_ Ca(T) =6 () = {xeq | (Ms//} N

boof Mobe ft (W) = £1(0)" v He
| CM‘}-‘(J!‘M:

1"(/!\/)l 3 ),' —> ye LY (W)

y\(q = i‘ Yok ¥ae (W)

h= g0

TLbn.: Cr‘y\ )(K) = y‘(Tx) =§'Y;., (Tx)h =Z‘:'Yn Xoan
2; r)Z-M th Wk )r/::= )/"_4
Y = 0y -)

TLJ rtamS T‘_C;'_S )



| w,u. EK-rc.s':c_ 3 w< M TC'I_) = G‘(‘T\): a‘(s)
Hﬂmow..«: For (Al <1 we J%w,:
o= (08, 2,0) € LI(V)

TAM: A - - |
TX',\-‘:(ﬂ:ﬂ ,_.) ..—:’h(d,?‘,%,...): ﬂxa

= Aeqgr) = f'ﬁ’_cgo\('r) Snee He pe A o
57\6(13! m‘sﬂfk s close .

Smce A=t (UTellye =S ikt = iie ),

Kzn

e k"f’w ()QD = _@_ = (T) = a(s) o
(b)
Ve hase aln«.l, Jl'lown Y<=a)
C”loos‘t. ﬂe
yeKy.,(s‘-ﬂ) => Sy:fly = 0=17y,
')/A‘-"-ﬂyz

)/1_-'=ﬂ)13

S'r.,
"_'> Y:O v =20 —-) )/_. => 5.7 ;,U-‘J._




= a‘o,(s) = ¢

F‘Fol‘" q
e D arrae Ran(5-2) ke
ST n [‘b B

Ex3
dem

/~ .
= Ren (5-72) & Keen(T-7)

=> kbr'-. (—I-—Fﬂ = gag [{
b





